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124a(a-1)+3a=0

@+2a+1=(@+12=0

Ta=-1

-1 (-2)x-3=x"+2x-3
=(x+3)(x-1)=0

T x=1,-3 .. x=-3
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7V W), 25 kel el HAE?

D k<-2 @ -1<k<0 ® -1<k<4
@k<5 ® 0<k<5

x—6x+2k-1=00] M2 thE = AZE 7hx 2
§=9—2k+1>0 2%k <10 k<5
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@ 3x2-x-1=0 ®x2+x+120

© 2x2 - V3x+2=0 @ xX2-x+2=0
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© D=1-4-1. 7 =0°|2& F2& 2ot
© D=(V3)2-4-2.2=-13<0 90|22 A2 T} F 5L
Zh=tth
@ D=(-1)2-4-1-2=-7T<00|0Z A2 }2 T 52 &
Zh=th.
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O m<1 @ -1<m<1
@O m<-1EE=m>1 @m>1
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a+b=3, ab=10B
(@ +b?)=(a+b)?-2ab=3>-2-1=7
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a+pB=3, o=
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@+ = (@ +p)P-208=9-2-5=6
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@ 4§ = (o +B)" - Bala+) = 2~ 3x ) x2

—8-15=-7




